Name ______________________________

Expressions and Equations (8.EE.8b)


Which statement correctly describes the system of equations shown? 

	Choose yes or no
	Explain your thinking

	A. The system has no solution because the graph of the system represents the same line.



                                      Yes   or   No

	


	B. The system has no solution because the graph of the system represents parallel lines.
  


                                      Yes   or   No

	


	C. The system has infinitely many solutions because the graph of the system represents the same line. 
  


                                      Yes   or   No

	

	D. The system has infinitely many solutions because the graph of the system represents parallel lines. 
 


                                      Yes   or   No
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